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Note: i) Attempt any five questions.
for=dl uta weAl @1 g HIAY
i1}  All questions carry equal marks.
T gt & I 35 E)

iv) In case of any doubt or dispute the English version
question should be treated as final.
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1. a} Explainthe Computer architecture and Organization with
examples. Also draw the diagram of Van Neumann.

Computer architecture 3R Organization P ISTE0N Higd
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What is the Register Transfer Language (RTL)? Explain
the Arithmetic logic shift unit.

e iR ST (RTL) 31 €7 IRefes s fme

gfe & FaAEs|

b)

PTO
AG/T-402 (GS)

(2]

2. a) Whatis the differepce between Hardwired and micro

programmed contrg) ynit?
FEATE 3N TR s gl e A W AR 27

b) Explain the sign. magnitude, 1's and 2's complement. Also
definc the its range

Sign-magnitude, 1's 3R 2's complement & aEyy Y,
68 range Y W} qRwyfa R

a) Write and elaborate note on PCI, SCSI and USB bus
standards

PCI, SCSI 3R USB ¢ 9301 W iz R aiR fvgm o

b) Draw and explain flow charts for additiona] and subtraction
of floanng points number.

Floating points number & additional 31X subtraction &
fore gevad w0 3R SR

4. Explain the process of multiplication using BOOTH method.

Solve —4>3 using Booth method.

BOOTH fft g’ IvF & ufsm =) wwsngw) g Bfy @
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5 a) Explainthe zero, one, two and three address instructions

with examples.
zero, one, two 3R three address & & &) I<rgww wfed
HHATSTI

b) Differentiate between RISC Instructions and CISC
mstructions with example.
RISC Instructions 3R CISC instructions & di9 IgTgI00
& HTY JHeR Y

AGAT-402 (GS) Contd...



6. a)

b)

b)
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Explain major components of CPU.

CPU & WY@ HeH! & TTH

The size of the data count register of a DMA coatroller is
16 bits. The processor needs to transfer a file of 29,154
kilobytes from disk to main memory. The memory is byte
addressable. The minimum number of times the DMA
controller needs to get the control of the system bus from
the processor to transfer the file from the disk to main
memory is?
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Explain the hierarchy of Computer memory system with

example. https://www rgpvonline.com
Computer memory system 3 hierarchy 201 JgEw Higd
HHATFY

Consider a 2-way set associative mapped cache of size

16KB with block size 256 bytes. The size of main memory
is 128 KB. Find the number of bits in the tag directory

SEZE.

A 2-way set associative 1 STPBR 16KB & o P! sl
HAER 256 AZSH & T Ag Ry 1 A A9 &1 gEer
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Write short notes on any ty of the followings.
1) Virtual memory
11) Charactenstics of Multjprocessors

iti) Instruction Pipeline
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i) Virtual ¥y
ii) HeCIHIAHR B Faqor
iii) Instruction 9TE9AIZA
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